1. (i) If A and B be the points (1, 5) and (- 4, 7), then find the point P which divides AB internally in the ratio 2 : 3. 
(ii) Find the co-ordinates of the point which divides the line-segment joining the points (2, - 5) and (- 3, - 2) externally in the ratio 4 : 3. 
(iii) Find the co-ordinates of the point which divides the line-segment joining the, points ( x + y, x - y) and (x - y, x + y) internally in the ratio x : y. 
(iv) Find the co-ordinates of the point which divides the line-segment joining the points (a, b) and (b, a) externally in the ratio (a - b) : (a + b). 
2. (i) Find the ratio in which the point (1, 2) divides the line-segment joining the points (- 3, 8) and (7, - 7). 
(ii) Find the ratio in which the point (5, - 20) divides the line-segment joining the points (4, 7) and (1, - 2). 

3. In what ratio the segment joining the points (3, 4) and (2, - 3) is divided by the x-axis ? Also find the ratio in which it is divided by the y-axis. 

5. If the point (0, 4) divides the line-segment joining the points (- 4, 10) and (2, 1) internally in a definite ratio, find the co-ordinate of the point which divides the segment externally in the same ratio. 

6. The straight line joining the points (2, - 2) and (4, 6) is extended each way a distance equal to half its own length. Determine the co-ordinates of the terminal points. 

7. Find the co-ordinates of the point of trisection of the line-segment joining the points (- 2, 3) and (3, - 1) that is nearer to (- 2, 3). 

8. Show that the line-segment joining the points (8, 3), (- 2, 7) and the line-segment joining (11, - 2), (5, 12) are bisected each other. 

9. Find the lengths of the medians of the triangle whose vertices are (2, - 4), (6, 2) and (- 4, 2). 


10. If (4, 3), (-2, 7) and ( 0, 11) are the co-ordinates of the mid-points of the Indy, of a triangle, find the co-ordinates of its vertices. 

11. (i) Find (x, y) if (3, 2), (6, 3), (x, y) and (6, 5) are the vertices of a parallelogram taken in order. 

(ii) If (x₁, y₁), (x₂, y₂), (x₃, y₃) and (x₄, y₄) be the consecutive vertices of dparallelogram, show that, x₁ + x₃ = x₂ + x₄ and y₁ + y₃ = y₂ + y₄. 

Answers:
1. (i) (-1, 29/5) 

(ii) (- 18, 7) 

(iii)((x² + y²)/(x + y) ,(x² - y² + 2xy)/(x + y)) 

(iv) ((a² + b²)/2b, (b² - a² + 2ab)/2b). 


2. (i) Internally in the ratio 2 : 3. 

(ii) Externally in the ratio 3 : 2 


3. Internally in the ratio 2 : 3. and externally in the ratio 3 : 2 


5. (8, -8) 


6. (5, 10) and (1, -6) 


7. (-1/3 ,5/3) 


9. √89, √17 and 5√2 units. 


10. (6 , 7) , (2, -1) , (-6, 15) 


11. (i) (x , y) = (9, 6)

